TVRK28E | THE = HEXS BARss L R W3 4 5 5%
= =+ BT OfE M Sz E AR HP
p/H =
BREH R Tk % A H
X F Hh H B DBk B (i f5) B A5 (HlAE) s At & & @EEAN) B E [
£ HiE | B | H R £l £, H M Ak BB | MEFEHE | Zoofh | B4R & HE { i K 4 OO I Sl s
m m m m m m m m m H H
ITH | %ﬁ H 998 1014. 95 igggzgiaﬁme A BiA
21'H 39 %f %f 1573 1513. 00 ?gg%z%iﬁ@mﬁ A BUA
STH | go413 | % | iz 322 51 20. 22 5.12 100. 12 igggzgiaﬁme A EiA HRHE Y b
3 T'H 1555-5 EH | HE 1983. 47 ?gg%z%iﬁ@mﬁ A BUA
INEE — — — 20. 22 — 5.12 —| 4611.54
3 TH 67-1 S 256 ?gg%%ﬁ%aﬁmﬁ KE OKER
yﬁfﬁ 1234-1 | gy 2345 ?gg%%ﬁ%aﬁmﬁ KE AR
3 TH 68-1 m 118 ?g%%%ﬁ%aﬁmg:#ﬁ PN
/R — — — — — — — —
ITH 36-2 mo| 1208 296. 81 iggigﬁﬁaﬁmg IRE 4D
i /i Vi i /i 22.40
/i /i /i J/i /i 3.12
JNEF — — —|  322.33 — — — —
3 TH 67-4 M 250 ?gg%%ﬁ%aﬁmg Ja—Y —pEh
/R — — — — — — — —
3 TH 328-1 g2 5839 24 ?gg%g%iﬁ@mﬁ B OEF%
SEHEF BEN SV fdbX B RT3 |,
gt 2566-8 | 160 THS 28 B EF
/R — — — — — — — —
21'H 38 m | Eif 600 100. 00 300. 00 200. 00 ?gggg%&ﬁ@mﬁ PR EE 34




TVRK28E | THE = HEXS BARss L R W3 4 5 5%
:I: ﬂij; ﬁ}% %: AT (E M Sz E ALK A
BHEIEA R 359 F A H
X F H B BB Gk BN (E) # B Bl s S (H 1) s gr 15 F WEEREA) b it A
o %
7 B | B | H B EH = &3 vt i Ak | MEFEML | 2o | EAG & fE i K4 SIS L
m m m m m m m m H
3 TH 67-3 H a5} 297 17 150. 00|  100. 00 jé‘ba\gigjéjgzaﬁmg FrE BE S84
/NG 100. 00 450.00|  100. 00 — —|  200.00 —
2TH B MEFE | TR SN EMALX BHENT 3 | B
2.56-2 Wi | ki 87 49. 77 TH S5 6%H 2 T
Vi i Vi i /i 37. 67
3TH 1000-2 H 1235 ?Eg%%i@%a’@mg T H—
INEE — — — — — — 87. 44
2T'H 56-1 J B 1194 ?Egigj@gaﬁmg VAR T T A
3TH 2233-2 T 325 ?E\gigjélzaﬁéﬁm EVRAYT T A
INE — — — — — — —
3 TH 69M1-2 | (Likk %f 674 07 674. 70 ?gg%gﬁ%a’@mg R
/NG — — — — — —| 674.70
ITH 17 EHl | LAk 2195 2195. 04 By E IR
/NG — — —| 2195.04 — — —
&t 100. 00 450.00| 442.55| 2195.04 5.12]  200.00| 5373.68




